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FR Practice #2 (20028 #2, 10 points)

2. Arigid 8.20 L flask contains a mixture of 2.50 moles of H,, 0.500 mole of Oz, and sufficient Ar so that the partial
. pressure of Ar in the flask in 2,00 atm. The temperature is 127°C.

a. Calculate the total pressure in the flask. (3 points)
b. Calculate the mole fraction of H; in the flask. (2 points)
c. Calculate the density (in g L) of the mixture in the flask. (2 points)

The mixture is ignited by a spark, and the reaction represented below occurs until one of the reactants is entirely
consumed.

2 Ha(g) + Oa(g) = 2 H:0(g)

d. Give the mole fraction of all species present in the flask at the end of the reaction. (3 points)

(26t) (@) Py, = 20RT = (2.50 me)0.08204 Sop X00.K) = 10. 0 st (1 p#)

i 8.20 L

Po, = np, RT = (0.500 me)(0.082p( 527 oo K) = R.00 atm (1p4)

\% BP0 1.

P&m} = Py + Pop 4 Pa, = 10.0+2.042.0 =[}, 0 at

(2 6¥) (B) moly, = PV = (2.00at)(8201) = 0,500 ol Ac (lpt)

RT™ (. 0820(, 542 Yoo, K)

oL, 2,50 mo| H, < 250 md =[0.FY
A50mo| + 0,500 mo{ + O.5D0 o) 2.50 mol
I, 0, Ac

(2p%)_(C) 250 mol o\ Jolf 4 W, = 5.049 fl, )
]m"[”a 7

0.500 ol 0y, 32.09 Oy = 16,04 Os U fota] mass = S.04 4 14,04+ 20,0

Tl \ =904 (147)

0.500 mol Acy H0.0 3 Ar = 30,04 Ar 7

. , IMQ[A(

Jonsibe < ™S = 402 -5, 00 /L) (14t)

volume B.20L
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CL\ ;?(”2(0}1 1 Ozm; =3 2”;0(1)

.50 0. 560 O
o0 0500 +1.0O ®»
1. SO & 1.0D  =4stal moles = 1, 50 mof + LOD mol + O.SDD mo
aldec (xh H. H, o A-

= 3,0D mo| fof«] (f,o‘f)

Yu = .50 rol H =[0.500] —

N
3.00mo| /

Yhe = 0.500 mol Ar :{B,]&?} g | of for any fwo
3.00 >

Yo = 1.00 mol 0 4 0.333
3.00




